

$$X = \underline{2 * 3} * 6 / 2 \% 2$$

$$X = \underline{6 * 6} / 2 \% 2$$

$$X = \underline{36 / 2} \% 2$$

$$X = \underline{18 \% 2}$$

$$X = 0$$

- $Y = \underline{4 \% 4} + 3 \% 3 + 2 \% 2$
- $Y = 0 + \underline{3 \% 3} + 2 \% 2$
- $Y = 0 + 0 + \underline{2 \% 2}$
- $Y = \underline{0 + 0} + 0$
- $Y = \underline{0 + 0}$
- $Y = 0$

- $A = 3 + \underline{5 * 4} - 2 + 4 / 2 + 3 * 2 \% 4 - 2 + 5$
- $A = 3 + 20 - 2 + \underline{4 / 2} + 3 * 2 \% 4 - 2 + 5$
- $A = 3 + 20 - 2 + 2 + \underline{3 * 2} \% 4 - 2 + 5$
- $A = 3 + 20 - 2 + 2 + \underline{6 \% 4} - 2 + 5$
- $A = \underline{3 + 20} - 2 + 2 + 2 - 2 + 5$
- $A = \underline{23 - 2} + 2 + 2 - 2 + 5$
- $A = \underline{21 + 2} + 2 - 2 + 5$
- $A = \underline{23 + 2} - 2 + 5$
- $A = \underline{25 - 2} + 5$
- $A = \underline{23 + 5}$
- $A = 28$

- $B = \underline{4 / 2} * 3 + 4 + 3 * 2 \% 5 * 3 - 4$
- $B = \underline{2 * 3} + 4 + 3 * 2 \% 5 * 3 - 4$
- $B = 6 + 4 + \underline{3 * 2} \% 5 * 3 - 4$
- $B = 6 + 4 + \underline{6 \% 5} * 3 - 4$
- $B = 6 + 4 + \underline{1 * 3} - 4$
- $B = \underline{6 + 4} + 3 - 4$
- $B = \underline{10 + 3} - 4$
- $B = \underline{13 - 4}$
- $B = 9$

$$\bullet \quad Z = (3 * 2 * (3 + (2 * 3 / \underline{4}))) - (4 + 3 * 2 - 5) * 3 + 2$$

$$Z = (3 * 2 * (3 + (\underline{2 * 3} / 4))) - (4 + 3 * 2 - 5) * 3 + 2$$

$$Z = (3 * 2 * (3 + (\underline{6} / 4))) - (4 + 3 * 2 - 5) * 3 + 2$$

$$Z = (3 * 2 * (3 + (\underline{1}))) - (4 + 3 * 2 - 5) * 3 + 2$$

$$Z = (3 * 2 * (\underline{3 + 1})) - (4 + 3 * 2 - 5) * 3 + 2$$

$$Z = (3 * 2 * (\underline{4})) - (4 + 3 * 2 - 5) * 3 + 2$$

$$Z = (\underline{3 * 2} * 4) - (4 + 3 * 2 - 5) * 3 + 2$$

$$Z = (\underline{6 * 4}) - (4 + 3 * 2 - 5) * 3 + 2$$

$$Z = (\underline{24}) - (4 + 3 * 2 - 5) * 3 + 2$$

$$Z = 24 - (4 + \underline{3 * 2} - 5) * 3 + 2$$

$$Z = 24 - (\underline{4 + 6} - 5) * 3 + 2$$

$$Z = 24 - (\underline{10 - 5}) * 3 + 2$$

$$Z = 24 - (\underline{5}) * 3 + 2$$

$$Z = 24 - \underline{5 * 3} + 2$$

$$Z = \underline{24 - 15} + 2$$

$$Z = \underline{9} + 2$$

$$Z = 11$$